algebra Equazioni di primo grado numeriche intere

1 2x —3=-5 R:x=-1
2 | 2(x—4)=3(x-5) Rix=7
3 |5x+2(x+1)—3x=4x—-3+x R:x=5
4 |3x—54+2(x—3)=1+45x R: impossibile
5 L +2)—( 2)+3 1 Rix =0
x—z+g5 7 (* =*¥—3 x x =z
. x—2+x—2+1( 2)_x—l 1 Rixe 1
4 3 3T T Ty '
2 . .
7 7x—§+x—3=x—3+7x—§ R:indeterminata
1 1 13
8 2—5x+3(x—2)=z+3x—1 Rix=——
9 [4(x—3)(x+3)+1=4x?—-"5x Rix=7
" x4+ 2 x—3+3—x 10—x 5 +1 R 9
- = - == X =——
2 6 12 6 3~ 17
3x—2 x—1 x 5+x X , .
11 2( 2 — 2 —E>=x—3— > +(5_E) R: indeterminata
3x =5 6—x 3—x
2 _ (22 _ e
2 1 (x+2) 5 = (x —3) 5 + 2 +5 Rix =13
X 3—2x 2 —3x 6 —x 14
13 [3(1—Z)+2x— . ]+(3—x)2— = (-3 -— Rx=-1
x—3 1 x—3 6
14 2—x+T—[2(x+1)—§(2x—3)]=T—2x—1 R:x=ﬁ
x x@3=%)?  1[@+)@E4DE G-x)®  (x=2)(x-1) X2 (2x—-3)(x-3) 11 45 32
15 3—;(1—2x)2— 2 _Z[+z+ T2 T 2 ]:_7+ 4 _Tx3+?xz R:x=§
16 | 3(7x —5) = 15x — 1 R:x=§
17 | 4(3x = 1) = 4x — 2 R:x=%
18 | 4(1—2x) —2x +4 = 2(3x — 1) + 4 R:ng
19 |30+ 2) +4(x+3) = 2x —9(x — 1) + x R:x=—%
20 | 2(x+1) —3(x+2) = dx — 2(x + 1) R:x=—§
21 |40+ x =3(15+x) R;xz_;
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22 |2+ x4+ 2(60x + 30x) =542+ x cx=3
23 |2x+5(x—6)=x+6(x+1) . impossibile
24 |5(2+x)=314+x)—2x—4(2—x) . impossibile
25 | 2(c—3)—4(1-2x)=3(x—-1) x=1
26 [3(x—1)—2x+5=4(x—-2)+4 x=2

27

32x+1) =3+ 6x

: indeterminata

2x+5 x+10_0

28 x=0
3 6
x+1
29 =2x -3 x=2
3
0,2x —0,3
30 | ——— "2 =0,5 x =175
0.1
2—x 1 X 1 1
B — Me1=Zx—==(x— =2
| L(x+1) (1+3)] 1=zx-3(x~3) x
32 1(5 3)+6_x 0 0
— — —_ X =
4 X 8
X+l esi05 ~03
33 0z b ,5x x=0,
54 ZF@ 1)+ (2 +n]—1F(+4) 1]+1 .
32 4 X —312Y 7 =3

<2x+1 2x—1>(1 1) 5<2x+1 2x—1> 4

35 > 3 E—g =g > + 3 —§ X indeterminata
iy 1—3x+1 _x—1+1 5
2 3%T 76 T4 ST

7 2—-x 14+2x 1-—x
37 | =+ = — x=23

3 6 6 2

35

38 Z(ZX—1)=T—X x=6
39 |5—[-(x—1)-5Q@x—-1)]=2+x+ (2x —3) x=0
20 [x—1+4+5x—-3)+(-2)?=6x—-2 : impossibile
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